
ew{tu&wwffiM$ffiW M$ ffi}ffi ffi ffi e-ffi&ffi:ffiWffi ffi-:$

&_ $:$sLffiWlm,hd
t't lt lil{]'{-}P tll KO"[ trl "tr&

J.&ll ll
"fi!29"$ r7
Ns{69/13

J{!?6?/9?

t''f ri

'f'Iri

lszll3
J1l! q4JI?

Jtftr469/li
.Nr'762 i9?

itK
,f.I.K

COT'JTACOI}AH{}

[; t',cn"it ATl t I't it l.t BTP:l K

t-.1H-rl

S,nru;lo

q['TBEPI- t]4 Clit{1'fl61]Jl ?{}?5 r'

M(l:t oxo tiiltc<i t*lt t't u oe

C)urp 'reep;tl,tli

liureiqxtr pY6leuue H3 n'rr'lut'l

Cnat'ettu $TBaPHbtg

Ko$efiHr*fi HailHrtlt{ Ha M0J10xe

Iiltr0n ut't"r*ruttlHHhl ii c

il l.liip()Hvlll11e l{Tli1\'l II

X:re [r pixlrrtlit

Cup ra*P,nr,ti4

llLt'r*'{xil py6leHue }i} rir}'lubl

Cn* r*'n'lt otuiip H l,l u

Ko$efiur,ti'i tlill ItflttK Ha Nlo'rlol\'j

[ia'l rltt ntl t itt t ttttttltit t:

!l i l l{po l lylfrllcl I I ilx't Il

X:re6 pxoltofi

Sopiu c xlrprorlelet'1, c Ll"bl fiJel{KoM'

co ilueraxoil
K*'rLt*'tr,t PuSHue
liapr"*$*.tt t'tt$s ilnPe
(iutrrttri cg*x{l't{i1 ll/f
Hour ttor' l'13 HJ''Parl1

liarut t n ttr-uu ltttttr,t it c

i\'[I Np$ ]lyTi) !le I {'rilNl I'l

X;rc$ prxattoli

rr c xoutllrrxrPttttl

tl QK fl:J ltl l'l fli)IrHl'tNir

l,S{r i,:0 +.11r

{:,1- 7,00 (},0

14,98 2:,57 15.-i{}

6,6{.1 5,80 ; ?.(:!0

3,lr' 2,6? 15,'")5

t.Oli 0,5? lJ.s:

0g;r x tt$hlX{iill

rop.Sirrc:ro
rrpfil.tp
l()p.l{&rl}lr(}x

x,'rc6 6e,r

x:te['tePrt

.!All'l"PAK

roP"6lm:to
fitpilnp
l'0l). l{al Iil'f{)li

x,,refi 6c:r

.q-qeb ,tepH

(}$sA

I 6rnlo

J il,"IKliX)

|ilpHlJp

-:t{rn.i'*l}Hrlp

ItailnY0li

.r:efr Ss.t

100

J,)

t00
ls0
?00

i,6

l0

IJ
ril0
180

20t)

l:i
?{)

I 51250i l0

100

I iit)

l{)
2iln

7:'.

l{}

I00
l('10

5 8,00
ti7,50

2A9,50
??9,00
r01.00

78.80

.x2,00 l.4t 0.?0 $.{ti}

895,fi{}

?2,15 8?,50

46,4T ?e9,50

?,95 229.00

9,10 t0 | .ilO

jl. l2 70,00

.]?,15 J?,96 91,l?

6,1: 7.00 0.0{)

l4,ql ?i,l? 15"-\0

6,6i 5.,10 ,il fi{}

3,lc 1.6? l:.!5

J,()i, 0.5 0 I '1 ": 5

lQl "1?,00 l-4t 0.20 li 6{)

J{,?7 19,?'l92,(|(l

19,5q

45,99

:i,18
4"50

l l ,lf,

,].6 I
1.90

829,00

187,0{j

rs5.00
l4l ,00
4.50

r4,:.Ofl

(;1.60

42.00

q l,9tl

l:.I{}

I'!l]ii | 7

Jrrg341: I 3

"l.i!+?.iil3
Ns?lr I ?

Ns l4()r l?

].TK

1 0.:i,) l 5. t {)

t 1.3,) 9,6$ 9.8tr

j.l[ 5.]0 :ir..i{r

0,il 0.01 () li'i

t"0t il.10 i.l.:ti]

l "?f o'{"{ l i t"l

I .1c 0.1{} s.6r]

x.le6 rePrt "f i'K

NOJIJ1HT;IK
l.lyu,ltt,ile:ixe TTK

ttattttittx 'N'l5t i

Jtt.lPs:K't'(}f!

TS,XHTUIOI'

I 10,00

t7.91

ll.0t

76J, | 0

.100.i0
10i,00

?9, 1,6

5,5(l

il.ll'

30,81 98.llt

).()() : ii.{l{ )

0. j0 :+.J{}

J0"0(l .10J,30

ttAitbKY"rlSIT0P t

3Atl. fiP-OM

q 1{l t*:.{{}


